Lattice Multiplication (D)

Use lattice multiplication to find each product.

8 8 8 0 5 1 4 2
9 2
0 0
8880 x 90 = 5142 x 20 =
3 7 5 4 7 0 8 7
5 7
1 7
3754 x 51 = TORT x 77 =
3 9 5 5 9 1 1 8
4 5
9 5
3955 x 49 = 0118 X 55 =
2 5 1 9 4 7 8 17
8 4
7 0
2519 x 87 = 4787 x 40 =
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Lattice Multiplication (D) Answers

Use lattice multiplication to find each product.

8§ 8 8 0 5 1 4 2
77 7 10 9 /10 10 /To A,
12 2/ 20 1, 0 2,/ 8,/ 4
0 /10 /10 /10 /] 0 10 710 /10 ¢
o o/ o/ 00 o, o/ o/ 00
9 2 0 0 2 8 4 0
8880 x 90 = 799,200 5142 x 20 = 102,840
37 5 4 7 0 8 7
L3 A2 12 A s 4 10 5 14 ) 4
1, "5, 55,0 s, 9, 0 6, 9
0 10 70 /10 /], 1 /10 15 4 ] 4
o 3, 1/ 5,/ 4 4, 9,/ 0,/ 6,/ 9
I 4 5 4 5 6 9 9
3754 x 51 = 191,454 7087 x 77 = 545,699
39 5 5 9 1 1 8
13 2 12 ) 4 4 /10 710 T4 A 5
1 2 6,/ 0/ 0 s, s, 515,70
2 8 4 4 4 /10 710 14 A 5
o 1,/ 15,/ 5 o s,/ s/ 5,70
3 7 9 5 I 4 9 0
3955 x49 = 193,795 9118 x 55 =501,490
2 5 1 9 4 7 8 7
L4 10 17 A g L2 13 12 A
2 6l 0 8 2 1, 6 8,/ 2,/ 8
L 13 10 716 A 4 0 10 710 /10 /¢
1 4, 5 1,/ 3 o o/ o/ 0,0
9 1 5 3 I 4 8 0
2519 x 87 =1219,153 4787 x40 = 191,480
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